


B2 =52 AT e

of Mgt

> HCH X0 Ch3t ZITH RLRZ0|0| BA-F2 40| 70| f=0lo| MET A

> XER70lo| A0 LS Crofst =0l (ex. BSHFO|, B3I, CHRLR0l, A
Al BIZC| £)7k ZXSILE, E2 40| HX|Of oAl 0 HS| AT

> S| 313 AfEl S JHXICHRITOIO] B > AtAY JHK R AT, Bl YE 2Tl
> A O AZH Mo BAS B2

> £2 4 (B2HE0| 802 FE S2)0| YX|o| FO2 &S0t 2o
> How? Z2HE M| Msto| HTiN 22, B2tEN ¥E 229 YK



M| 2Ol A

0=
oo

ay of life)2] FX|E A

Of

10l 71, &+

=)
—

2
—

i
—

80 BO0io

. T
: ~—
S
5 "
ol
A
K-
= o
S
w0 Kk
ciE
_ =
=
KO IO
o U
Mo foll
- 80
il or
80 ol
ol <
cigln
5> B
< >
KO IO
o7 N
o foll
Hu B0
ol or
80 T
mr <
]
AT T
iU
A A



[¥

=]
=

(

> ZchE ZX[EE0| ofH O|D|01|)\1 T2 =22 BX|E TS A== B
Of... A M0 E2tE A0 RLOM H 74X =4 F0f| £t5H0 ==K OF...

1. 2A3AdtH| AL E2HEQ| EHA| (Socrates Problem): A3 2HH| A Q| X{=0| SIS

2. GAFME AFE2MH| A (historical Socrates)2f Z2HE Q| A3 2tE| A (Platonic
Socrates) Q| A

3. &ZE X &= (Platonic Writing) 2| =&t Z2+E 27| (Platonic Reading)

4. SohE ARSO| ZetrF A=712 (B2 H 5 A)

5. YX|Esto| S2HE Atdol B4 017t 28te Ho|atete

6. Sch= SX[E FEDOF &4




FX| A3 EHE| A Q| M XFE A
C=RH ZA > X[ E

1ol 250

7k OfL| 2},
s

A3t A9

>

EL

|=40] OfL|Ef,

28E o
(art of writing) =
X 5 A10] @ 7 E

mlojufol
o1 for K
=z Ik
Ol_ﬂo__
KO-
mr N K2
HU= &l

A

O] OfLl > 7t

ct= 49|
Of OfL|2},

oL
=t

=
=

| K =2 7H

%z 2o HX &
NESETR<PY

A

Zatex QEmoLe

=

o KXo 2HoM



|-E I—Ijqjc-l'c'sbo‘ 7‘%1}

<3g[=> <HE MU A> <E7[H[OHHA>

3oty A0 =0 S 1 A3 dH| A2t 7 21t O F| L]
Kot Hefo| HHA 25 (F2 a2 1= A2t Hefe
T2 &= FOIEA Ol2et Z5S oA =2 A7t
> E2 41 ARl 7Y
> #o| XHjet A BIEES 2
E e

' X| LH%! Ol I:IAE o = 'El'—jE&ll 2

epimeleia)o| H= .

EI
<&7|H

E
2 =5 a5 =7tE5s e

og O

FL 2k 8




)

A

= s 3582 X2 &7 (127]0f

<|
H
!
ol
or H
< 2
F &
a1
K =
_—
w =
il
1
=
= o
KF &
ol B
PN
Iy
< 10
X0 ol
N <n

>
>

)

ol A

Mz HE (2=

AlHH) e =

B~
ot

> LA X|8f (Kk7] At10ff O

10

BN

o| ‘SXl|)E H

A

L

S =

gt

<

Ol bk

F

o4
<4

> AAZFHIA A}



~
K-
]

AN
<
&0
~
I's
\Y
=
Ok
~
1
<0
o
of
KF
OF

!

1

—_
@)

K|

=

!

> <=7>2H~47H O A

= Zot {2 0|2 ZH|

|-O| HEAI
o—l o™

A
=

o[

=g
= 3

0}

!

<l

=<
Lok
ot
KFZ0
Ok

ol

Hm._

Al

oA

=23

| H: Ol =72 AT 2 =2 A Q] FXK|

XFQF H

F

at O] =7t

—_

F

b <Z7p> 8H~9HO| Efet
O]

> E



87t

MES RSN

=
o

M ol 222 > MAAH &,

jor

-

X
=

A

| 7HA,

| X H£5 2l

HFEAIO
o 11—

X, Ol & #I2 a2

20] 2 a2l §

HJ

2 H2 OfLX|

ir

IS
AN YR

X~
o



)
32 EF EOf

Kir
—_— —_
=
.__U F1 oH
i -~
K u- =
— — I
Ol ol =
— Mm_| 1
jol’ ﬂle <l
4 —
._AE o KO ©
T/ jol od
i & W3
<O 7 U <
A 0.
14 op oo gy =w
I_|__|_| = =
F Rz
Al U oo olo
= K H_._AH or or
Ol lH jor RU jor
< y < KR
o o] Ju KO ﬁo
A REX M &
O_ Il & 1 .
Ml oF K _M_LE
O_O = < od -
OF S o w oo &
4 Rl <& W
O ol W OF Uo7
= Ol o & 1y
O K RT3 o
=~ldild R < g
O == < 4+|Ao jod <4y
O — I ol © A Ml
= do m0 oy P
> KO T Wy VI
! ool AT
F e —
O or =T B0 Hu A
£ = 5 < a

> CLALZAT}HL <2T}>



